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SECTION A — (5  3 = 15 marks) 

Answer any FIVE questions. 

1. What is long-term capital gain? 
 }sh Põ» ‰»uÚ Buõ¯® GßÓõÀ GßÚ? 

2.  What is Indexed cost of acquisition? 
 APÂø» SÔ°mh AhUP® GßÓõÀ GßÚ? 

3. State the meaning of dividend. 
 £[Põuõ¯® GßÓõÀ GßÚ? 

4.  What are the types of Securities? 
 ¤øn¯[PÎß ÁøPPøÍ TÖP. 

5.  State any four deductions from gross total income. 
 ö©õzu Á¸©õÚzv¼¸¢x H÷uÝ® |õßS PÈÄPøÍ TÖP. 

6.  Explain the various categories of ‘Income’. 
 Á¸©õÚ©zvßu £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

7.  Mr. B received Rs.50,000 as interest from debentures of XYZ Ltd 
(non-listed). Compute gross interest. 

 v¸. B Gß£Áº Ámi¯õP ¹. 50,000 ø¯ XYZ {ÖÁÚ PhÜmk 

£zvμzv¼¸¢x ö£ØÓõº (£mi¯¼h¨£hõux). CÁ›ß ö©õzu 

Ámiø¯ PnUQkP. 

8.  What is meant by deductions? 
 PÈÄPÒ GßÓõÀ GßÚ? 

9. State any two income that are exempted from tax. 
 Á›Â»US AÎUP¨£mh H÷uÝ® Cμsk Á¸©õÚ[PøÍ 

£mi¯¼kP. 

10.  Explain the deductions under Sec 80C. 
 ¤›Ä 80C °ß RÌÁ¸® PÈÄPøÍ ÂÍUSP. 

11. What do you mean by advance payment of tax? 
 •ßTmi ö\¾zx® Á› GßÓõÀ GßÚ? 
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12. Explain CBDT. 
 CBDT ÂÁ›. 

SECTION B — (3  10 = 30 marks) 

Answer any THREE questions 

13. Mr. Dharun is a film producer. During the year 2018-19 he sold 
a film projector for Rs.1,70,000 which had cost him Rs.1,50,000 
and in respect of which Rs.40,000 had been allowed as 
depreciation expenses on sales amounts to Rs.5,000. Compute 
the Capital gain. 

 v¸. u¸s Gß£Áº J¸ ]Û©õ u¯õ›¨£õÍº BÁõº. AÁº 2018&19 

B® BsiÀ J¸ ]Û©õ Põmk® P¸Âø¯ ¹.1,70,000 US ÂØÓõº. 

Auß öPõÒ•uÀ Âø» ¹.1,50,000 BS®. Auß ÷u´©õÚ® 

¹.40,000 ÂØ£øÚ ö\»Ä ¹.5,000 AÁ¸øh¯ ‰»uÚ Buõ¯zøuU 

PnUQkP. 

14.  Mr. Ram provides the following information regarding his 
transaction for the sale of residential house during the 
assessment year 2001-02. 

 Particulars Rs. 

House purchased in 1978 2,50,000 

Fair market value on 1.4.01 4,00,000 

Sold in Oct. 2018 17,00,000 

Amount invested in purchase of another house in April 2018 1,50,000 

 Compute the amount of taxable capital gain. CII 2018-19 - 280: 
2001-02 - 100. 

 v¸. μõ® Gß£Áº 2001&02 ©v¨¥mhõsiÀ uõß ÂØÓ Si°¸¨¦ 

Ãk £ØÔ¯ RÌUPsh uPÁÀPøÍz u¸QÓõº. 

 ÂÁμ® ¹. 

1978À Ãk Áõ[P¨£mh Âø» 2,50,000 

{¯õ¯©õÚ \¢øu Âø» 1.4.01  4,00,000 

AU÷hõ£º 2018À ÂØÓ Âø» 17,00,000 

H¨μÀ 2018À ÷ÁÖ Ãk Áõ[P ö\´u •u½k. 1,50,000 

 Á›Âv¨¤ØS›¯ ‰»uÚ Buõ¯zøu PnUQkP. CII 2018-19 - 280: 
2001-02 - 100. 
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15. What are the incomes that are chargeable to tax under the head 
income from other sources? 

 Cuμ ÁøP Á¸©õÚ® GßÓ RÌ uø»¨¤À Á¸® Á›USm£mh 

Á¸©õÚ[PÒ ¯õøÁ? 

16. The following incomes are received by Mr. S during the previous 
year 2018-19. 

 (a) Directors fees Rs.6,000 

 (b) Income from agricultural land in Pakistan  Rs.40,000 

 (c) Interest on savings from Banks Rs.1,500 

 (d) Interest on fixed deposits Rs.1,800 

 (e) Winnings from lottery (net) Rs.33,000 

 (f) Royalty on books   
  (expenses for writing the books Rs.4,000)  Rs.20,000 

  Compute his income from other sources. 

 ¤ßÁ¸® Á¸©õÚ[PÒ v¸. S BÀ 2018-19® BsiÀ 

ö£Ó¨£mhøÁ. 

 (A) C¯US|¸US ö\¾zv¯x ¹.6,000 

 (B) £õQìuõÛ¾ÒÍ ÂÁ\õ¯ {»zvß ‰»® Á¸©õÚ®  

    ¹.40,000 

 (C) Á[Q ÷\ª¨¦PÒ ‰»® Á¸©õÚ®  ¹.1,500 

 (D) {ø» øÁ¨¤ß «uõÚ Ámi  ¹.1,800 

 (E) »õmh› ‰»® ö£ØÓx ({PμzöuõøP) ¹.33,000 

 (F) ¦zuPzvß «uõÚ E›ø©z öuõøP   

 (GÊv¯ö\»Ä ¹.4,000)  ¹.20,000 

  AÁ¸øh¯ Cuμ ÁÈ Á¸©õÚzøuU PnUQkP. 

17. The gross total income of Mr. Babu is Rs.7,50,000. He has made 
the following donations. Calculate his net income.  

 (a) National foundation for communal harmony Rs.15,000 

 (b) National children’s fund Rs.30,000 

 (c) National defence fund Rs.37,500. 
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 v¸ £õ¦ AÁºPÎß ö©õzu TkuÀ Á¸©õÚ® ¹.7,50,000. AÁº 

¤ßÁ¸® |ßöPõøhPøÍ ÁÇ[QÚõº. AÁ›ß {Pμ Á¸©õÚzøu 

PnUQkP. 

 (A) |õmiß ©u|À¼ÚUP AizuÍ {v ¹.15,000 

 (B) |õmiß SÇ¢øuPÐUPõÚ |»{v ¹.30,000 

 (C) |õmiß £õxPõ¨¦ |»{v ¹.37,500. 

18.  Calculate the qualifying amount of deduction under section 80C  

 (a) Life insurance premium [on his own life] Rs.20,000  

 (b) Contribution to recognized P.F. His own – Rs.5,000 His 
employer’s Rs.4,000  

 (c) Repayment of loan for construction of house :  

  Interest Rs.30,000 

  Principal repayment Rs.50,000  

 (d) Interest accrued on NSC amounted to Rs.1,000. 

 ¤›Ä 80C Cß RÌ AÝ©vUP¨£k® PÈÄ öuõøPø¯ Psk¤i 

 (A) B²Ò Põ¨¥mk •øÚ©® (uß B²Ò «x) ¹.20,000  

 (B) A[RP›UP¨£mh ÷\© |»{vUS AÁμx £[S ¹.5,000 ©ØÖ® 

AÁº {¯ª¨£õÍº £[S ¹.4,000  

 (C) Ãk Pmh Áõ[Q¯ PhÝUPõÚ Ámi ö\¾zv¯x ¹.30,000 

  ©ØÖ® A\À ö\¾zv¯x ¹.50,000  

 (D) ÷u]¯ ÷\ª¨¦ £zvμ® «x ÷\º¢xÒÍ Ámi ¹.1,000 

19. Explain the powers exercised by any four income tax authorities. 

 H÷uÝ® |õßS Á¸©õÚÁ› Aø©¨¤ß AvPõμ[PøÍ ÂÍUSP. 

SECTION C — (2  15 = 30 marks) 

Answer any TWO questions. 

20. Mr. Rahul’s investment during the year ended 31.3.2019 
consisted of the following : 

 (a) 9% government securities Rs.25,000 

 (b) 11% Delhi Corporation bonds Rs.20,000 

 (c) 12% Bombay port trust bonds Rs.30,000 

 (d) 7 year PO national saving certificate Rs.5,000 
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 (e) 7% National plan certificate Rs.10,000 

 (f) 8% government of England bonds Rs.15,000 

 (g) He paid Rs.150 as commission for collecting the interest 
income. 

 (h) SBI savings bank interest in Rs.19,500.  

  Compute his taxable income from other sources for the  
AY 2019-20. 

 31.3.2019 AßÖ μõS¼ß •u½mk Á¸©õÚ® ¤ßÁ¸©õÖ : 

 (A) 9% Aμ_ £zvμ® ¹.25,000 

 (B) 11% iÀ¼ |Pμõm] Phß £zvμ® ¹.20,000 

 (C) 12% •®ø£ xøÓ•P £zvμ® ¹.30,000 

 (D) 7 Á¸h  u£õÀ A¾Á»P ÷\ª¨¦ £zvμ® ¹.5,000 

 (E) 7% ÷u]¯ vmh £zvμ® ¹.10,000 

 (F) 8% C[Q»õ¢x Aμ_ £zvμ® ¹.15,000 

 (G) uμS ¹.150 ö\¾zv Ámi Á¸©õÚ® ö£ØÓõº. 

 (H) £õμu ì÷hm Á[Q Ámi ¹.19,500.  

  2019&20® Á›Âv¨£õsiØS AÁ›ß Cuμ Á¸©õÚzøu 

PnUQkP. 

21. Compute the amount of capital gains exempted u/s 54 and 
capital gains chargeable to tax in relation to the following 
transactions. 

 Vasan sells a residential house property in Chennai for 
Rs.99,00,000 on 25th April 2017 which was acquired by him on 
10th May 2011 for Rs.5,00,000. In August 2017, he purchases a 
house in Madurai for Rs.15,00,000. On 30th June 2018 he sells 
the house property in Madurai for Rs.20,00,000. The cost 
inflation index for 2017-18 is 184. 

 ¤ßÁ¸® £›©õØÓ[PÐhß öuõhº¦øh¯ ¤›Ä 54ß RÌ Á› 

Â»USPÒ ©ØÖ® Á›US Em£mh ‰»uÚ Buõ¯[PÎß AÍøÁU 

PnUQhÄ® 

 Áõ\ß Gß£Áº ö\ßøÚ°À ÷© 10 2011 AßÖ ¹.5,00,000 
¹£õ´US Áõ[Q¯ J¸ u[S® Ãmka ö\õzøu 2017 B® Bsk 

H¨μÀ ©õu® 25 B® ÷uv¯ßÖ ¹.99,00,000 US ÂØQÓõº. BPìm 

2017 À ©xøμ°À ¹.15,00,000 ØS J¸ Ãmøh Áõ[SQÓõº. 2018 
B® Bsk áúß ©õu® 30 B® ÷uv ©xøμ Ãmka ö\õzvøÚ 

¹.20,00,000 US ÂØQÓõº. 2011-12 UPõÚ ö\»Ä £nÃUPU SÔ±k 

184 ©ØÖ® 2017-18 US 272 BS®. 
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22.  Mr. Palaniappan submits the following particulars of his income 
and loss for the assessment year 2019-20: 

 (a) Income from house property (computed) Rs.23,000. 

 (b) Profit and gains of personal business Rs.30,000. 

 (c) Share of profit from an AOP (AOP has paid tax at the 
maximum marginal rate) Rs.15,000. 

 (d) Short term capital gain Rs.13,000. 

 (e) Long term capital gain (Building) Rs.22,000. 

 (f) Long term capital loss (Shares Rs.29,000. 

  The following items have been brought forward : 

  (i) Business from P.Y 2018-19 Rs.35,000. 

  (ii) Loss from house property P.Y. 2018-19 Rs.26,000.  

   Compute his gross total income. 

 v¸. £ÇÛ¯¨£ß AÁºPÒ uÚx Á¸©õÚ® ©ØÖ® |mhzøu 

©v¨¥mk Bsk 2019-20 R÷Ç öPõkzxÒÍõº. 

 (A) Ãmk ö\õzx Á¸©õÚ® (PnUQh¨£mhx) ¹.23,000 

 (B) ö\õ¢u öuõÈ¼À Á¢u C»õ£® ©ØÖ® Buõ¯® ¹.30,000 

 (C) Tmk {ÖÁõÚzvÚhª¸¢x Qøhzu C»õ£ £[S {ÖÁÚ® 

Ezu© Áμ®¦ ÃuzvÀ Á› ö\¾zv°¸UQÓx ¹.15,000 

 (D) SÖQ¯ Põ» ‰»uÚ Buõ¯® ¹.13,000 

 (E) }sh Põ» ‰»uÚ Buõ¯® (Pmih®) ¹.22,000 

 (F) }sh Põ» ‰»uÚ |mh® (£[SPÒ) ¹.29,000 

   RÌUPshÁØøÓ •ß÷|õUQ Gkzx öPõsk Áμ¨£kQÓx : 

  (i) ÁoP |mh® •¢øu¯ Bsk (2018-19) ¹.35,000. 

  (ii) Ãmk ö\õzx |mh® •¢øu¯ Bsk (2018-19) 
¹.26,000.  

    ö©õzu Á¸©õÚzøu Psk¤i. 

23. Discuss briefly the provision of Income Tax Act regarding 
deductions U/S 80 to be made in computing the total income of 
assessee in respect of payments. 

 Á¸©õÚ Á› \mhzvß RÌ Á› ö\¾zx£Á›ß Á›USm£mh 

Á¸©õÚzøu PnUQk® ÷£õx ¤›Ä 80 Cß RÌ ö©õzu 

Á¸©õÚzv¼¸¢x ö\¾zxuÀPÍõÚ PÈÄ \μzxPøÍ _¸UP©õP 

ÂÁ›. 
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24.  Explain in detail any three types of income tax assessment. 

 Á¸©õÚ Á› ©v¨¥miß ÁøPPÐÒ H÷uÝ® ‰ßÔøÚ Â›ÁõP 

ÂÍUSP. 

–————— 


